
 

 

 

 

 

 

(1) = tPuguhf;fpuk eNue;jpu rpq;fd; kw;Wk; = tp[auh[rpq;fdpd; 

Nritfis gl;baw;gLj;Jf. 
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(1). gpd;tUk; tpdhf;fSf;F tpil jUf. 

1.fPu;j;jp = ,uh[rpq;fd; Ml;rp Gupe;j fhyg;gFjp vJ? 

2.,td; ve;j Njuupd; cjtpAld; Ml;rp Gupe;jhd;? 

3.,yq;ifapy; rPak; epf;fha vDk; rkag;gpupT 

vk;kd;dDila fhyj;jpy; Njhw;wk; ngw;wJ? 

4.kd;dd; rq;fuh[ gl;lk; ahUf;F toq;fpdhd;? 

5.,k; kd;did re;jpf;f te;j Mq;fpNya J}Jtd; ahu;?  

mj;J}Jg;gazj;jpd; Nehf;fk; ahJ? 

rgufKt khfhz fy;tpj; jpizf;fsk; 

thuhe;j ghlrhiy 

ghlk; : tuyhW 

juk; : 08 

thuk;: 06 (2021.06.07- 2021.06.11)  

jahupg;G : vk;gpypgpba fy;tp tyak; 


